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ALL FOUR questions are compulsory and MUST be attempted

1 (a) Phobis Co is considering a bid for Danoca Co. Both companies are stock-market listed and are in the same
business sector. Financial information on Danoca Co, which is shortly to pay its annual dividend, is as follows:

Number of ordinary shares 5 million
Ordinary share price (ex div basis) $3·30
Earnings per share 40·0c
Proposed payout ratio 60%
Dividend per share one year ago 23·3c
Dividend per share two years ago 22·0c
Equity beta 1·4

Other relevant financial information
Average sector price/earnings ratio 10
Risk-free rate of return 4·6%
Return on the market 10·6%

Required:

Calculate the value of Danoca Co using the following methods:

(i) price/earnings ratio method;
(ii) dividend growth model;

and discuss the significance, to Phobis Co, of the values you have calculated, in comparison to the current
market value of Danoca Co. (11 marks)

(b) Phobis Co has in issue 9% bonds which are redeemable at their par value of $100 in five years’ time.
Alternatively, each bond may be converted on that date into 20 ordinary shares of the company. The current
ordinary share price of Phobis Co is $4·45 and this is expected to grow at a rate of 6·5% per year for the
foreseeable future. Phobis Co has a cost of debt of 7% per year.

Required:

Calculate the following current values for each $100 convertible bond:

(i) market value;
(ii) floor value;
(iii) conversion premium. (6 marks)

(c) Distinguish between weak form, semi-strong form and strong form stock market efficiency, and discuss the
significance to a listed company if the stock market on which its shares are traded is shown to be semi-strong
form efficient. (8 marks)

(25 marks)
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2 Duo Co needs to increase production capacity to meet increasing demand for an existing product, ‘Quago’, which is
used in food processing. A new machine, with a useful life of four years and a maximum output of 600,000 kg of
Quago per year, could be bought for $800,000, payable immediately. The scrap value of the machine after four years
would be $30,000. Forecast demand and production of Quago over the next four years is as follows:

Year 1 2 3 4
Demand (kg) 1·4 million 1·5 million 1·6 million 1·7 million

Existing production capacity for Quago is limited to one million kilograms per year and the new machine would only
be used for demand additional to this.

The current selling price of Quago is $8·00 per kilogram and the variable cost of materials is $5·00 per kilogram.
Other variable costs of production are $1·90 per kilogram. Fixed costs of production associated with the new machine
would be $240,000 in the first year of production, increasing by $20,000 per year in each subsequent year of
operation.

Duo Co pays tax one year in arrears at an annual rate of 30% and can claim capital allowances (tax-allowable
depreciation) on a 25% reducing balance basis. A balancing allowance is claimed in the final year of operation.

Duo Co uses its after-tax weighted average cost of capital when appraising investment projects. It has a cost of equity
of 11% and a before-tax cost of debt of 8·6%. The long-term finance of the company, on a market-value basis,
consists of 80% equity and 20% debt.

Required:

(a) Calculate the net present value of buying the new machine and advise on the acceptability of the proposed
purchase (work to the nearest $1,000). (13 marks)

(b) Calculate the internal rate of return of buying the new machine and advise on the acceptability of the
proposed purchase (work to the nearest $1,000). (4 marks)

(c) Explain the difference between risk and uncertainty in the context of investment appraisal, and describe how
sensitivity analysis and probability analysis can be used to incorporate risk into the investment appraisal
process. (8 marks)

(25 marks)
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3 The following financial information relates to Echo Co:

Income statement information for the last year
$m

Profit before interest and tax 12
Interest 3

–––
Profit before tax 9
Income tax expense 3

–––
Profit for the period 6
Dividends 2

–––
Retained profit for the period 4

–––

Balance sheet information as at the end of the last year
$m $m

Ordinary shares, par value 50c 5
Retained earnings 15

–––
Total equity 20
8% loan notes, redeemable in three years’ time 30

–––
Total equity and non-current liabilities 50

–––

Average data on companies similar to Echo Co:
Interest coverage ratio 8 times
Long-term debt/equity (book value basis) 80%

The board of Echo Co is considering several proposals that have been made by its finance director. Each proposal is
independent of any other proposal.

Proposal A
The current dividend per share should be increased by 20% in order to make the company more attractive to equity
investors.

Proposal B
A bond issue should be made in order to raise $15 million of new debt capital. Although there are no investment
opportunities currently available, the cash raised would be invested on a short-term basis until a suitable investment
opportunity arose. The loan notes would pay interest at a rate of 10% per year and be redeemable in eight years’ time
at par.

Proposal C
A 1 for 4 rights issue should be made at a 20% discount to the current share price of $2·30 per share in order to
reduce gearing and the financial risk of the company.

Required:

(a) Analyse and discuss Proposal A. (5 marks)

(b) Evaluate and discuss Proposal B. (7 marks)

(c) Calculate the theoretical ex rights price per share and the amount of finance that would be raised under
Proposal C. Evaluate and discuss the proposal to use these funds to reduce gearing and financial risk.

(7 marks)

(d) Discuss the attractions of operating leasing as a source of finance. (6 marks)

(25 marks)
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4 PKA Co is a European company that sells goods solely within Europe. The recently-appointed financial manager of
PKA Co has been investigating the working capital management of the company and has gathered the following
information:

Inventory management
The current policy is to order 100,000 units when the inventory level falls to 35,000 units. Forecast demand to meet
production requirements during the next year is 625,000 units. The cost of placing and processing an order is €250,
while the cost of holding a unit in stores is €0·50 per unit per year. Both costs are expected to be constant during
the next year. Orders are received two weeks after being placed with the supplier. You should assume a 50-week year
and that demand is constant throughout the year.

Accounts receivable management
Domestic customers are allowed 30 days’ credit, but the financial statements of PKA Co show that the average
accounts receivable period in the last financial year was 75 days. The financial manager also noted that bad debts
as a percentage of sales, which are all on credit, increased in the last financial year from 5% to 8%.

Accounts payable management
PKA Co has used a foreign supplier for the first time and must pay $250,000 to the supplier in six months’ time. The
financial manager is concerned that the cost of these supplies may rise in euro terms and has decided to hedge the
currency risk of this account payable. The following information has been provided by the company’s bank:

Spot rate ($ per €): 1·998 ± 0·002
Six months forward rate ($ per €): 1·979 ± 0·004

Money market rates available to PKA Co:
Borrowing Deposit

One year euro interest rates: 6·1% 5·4%
One year dollar interest rates: 4·0% 3·5%

Assume that it is now 1 December and that PKA Co has no surplus cash at the present time.

Required:

(a) Identify the objectives of working capital management and discuss the conflict that may arise between them.
(3 marks)

(b) Calculate the cost of the current ordering policy and determine the saving that could be made by using the
economic order quantity model. (7 marks)

(c) Discuss ways in which PKA Co could improve the management of domestic accounts receivable.
(7 marks)

(d) Evaluate whether a money market hedge, a forward market hedge or a lead payment should be used to hedge
the foreign account payable. (8 marks)

(25 marks)
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Formulae Sheet

Economic order quantity

Miller – Orr Model

The Capital Asset Pricing Model

The asset beta formula

The Growth Model

Gordon’s growth approximation

The weighted average cost of capital

The Fisher formula

Purchasing power parity and interest rate parity
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End of Question Paper


